= Ty —_— T

AERAMR X E5E B

| o -]

0 X B X1

REERE &S
N7t XRENMFMBERLTOES O THMIE, BOTHBLTIZE,
#ER. 11 5000
100 20 o I
ettt

THA4X A3



ARERALHX X EE I
RRES REERODEZH [([EEm |HEE
15(1) |XEERK 1 SR 8.0
1502 |XEERK 1 SR 8.0 EKEEHF LA 54.0m
25 XEGER 2 5% 8.0 E/KEE A 54.0m
35(1) |XEHERR 3 SR 8.0 BB H LA 54.0m
35(2) |REHER 3 B 8.0
35() |XEHERR 3 SR 8.0 BB H LA 54.0m
354 |REER 3 B 8.0
45 XEGER 4 5% 6.5
55 XEERK 55 6.5
65(1) |REER 65 6.5
65(2) |REER 65 6.5 | EKEEF A 53.25m
75 XEGER 75 6.5
8= XEER 8 5 6.5
95 XEGER 9 5% 6.5
105 [XEERE 10 5% 6.5
1M1501) |RKEERE 1 SF 6.5
115(2) |[REER 11 5 6.5[EB A 53.25m
125(1) |RERERR 12 BF 6.5 EKFILMN53.25m
125(2) |REER 12 5 6.5
125(3) |REHERR 12 BF 6.5 EBFILMN53.25m
135 XEEKR 13 5F 6.0 B KERF A 53.0m
145(1) |RERERR 14 BF 6.0 B KEEHFILAS3.0m
145(2) |REER 14 58 6.0 EIR AN S3.0m
145(3) |REER 14 58 6.0
1453) |REERR 14 SR 6.0
155 |FEEKR 15 5 6.0
165 |XEEKR 16 5§ 6.0
175(1) |REER 17 58 6.0
175(2) |REER 17 5 6.0 BB LM 53.0m
185 |FEEKR 18 B 6.0
195 [REER 19 B 6.0 EIR AN S3.0m
205 |RERERR 20 B 6.0
215 |REER 21 SR 6.0
225 |RERERR 22 B 6.0
235 |RENERR 23 SR 6.0
245(1) |REER 24 5 6.0[#ERE P A D3.0m
245(2) |REER 24 5 6.0
245(3) |FEER 24 5 6.0 [ #ERE LA D3.0m
255  |RENERR 25 SR 6.0
265 |RELERR 26 B 6.0
2715 |REDERR 27 SR 6.0
285 |RELERR 28 B 6.0
295 |RENERR 29 SR 6.0
305 |REERR 30 B 6.0
315 |XEERR 31 5 6.0
325 |RERERR 32 B 6.0
338 |XERERK 33 BiR 6.0 EIRHIMS3.0m




